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Crossword

Tod The Dinosaur • PR Condron

For Better or Worse • Lynn Johnston

Beetle Bailey • Mort Walker

Zits • Jim Borgman & Jerry Scott

Hagar the Horrible • Chris Browne

Sally Forth • Greg Howard

Garfield • Jim Davis

Blondie • Chic Young

Cryptoquip

Family Circus • Bill Keane

 Bidding Quiz
You have the following hand:
[S] K94 [H] Q82 [D] A85 [C] KQJ6
What would you respond if partner opened the

bidding with:
1. One diamond.
2. One spade.
3. One notrump (16-18 points).
4. Two notrump (22-24 points).

  * * *
1. Two notrump. This is by far the best way to

indicate both your balanced distribution and point
count. Although your heart stopper is tenuous, two
notrump is nonetheless the standout response be-
cause it describes your hand perfectly with one
stroke of the brush.

 2. Two clubs. Here, with game in spades a dis-
tinct possibility, you should reject two notrump,
despite its accurate description of your distribution
and high-card values. The distinction between this
case and the previous one is narrow, but neverthe-
less real. The difference is that this time your part-
ner has opened the bidding in a major suit rather than
a minor.

Major-suit games are much preferred to notrump
games when both are viable, so it is best to leave as
much space as possible by making the temporizing
response of two clubs.

3. Four notrump. This is not Blackwood; it merely
invites partner to bid a slam if he has maximum val-
ues for his opening notrump bid. If partner has 18
points, he will bid six notrump knowing your raise
to four notrump shows 15 or 16 points. If he has 16
points, he will pass, while if he has 17 points, he can
bid five notrump and leave the final decision to you.

4. Seven notrump or four clubs. If you play a range
of 22 to 24 high-card points for a two-notrump open-
ing and partner can always be trusted to be in that
range, you can bid seven notrump straightaway,
since your combined point count can’t be less than
the 37 points required for a grand slam. But if you
play a slightly lower range of 21 to 22 points for an
opening two notrump, as many now do, your best
bet is four clubs — Gerber, asking for aces — since
you could be off an ace. If partner shows three aces
by responding with four notrump, you should bid
seven notrump next.

Note that a direct four-notrump response to two
notrump would not be Blackwood, but would in-
stead ask partner to evaluate his point count for the
purpose of reaching a small slam, as in the previous
problem. One of partner’s options in that case would
be to pass — certainly the last thing you would want
him to do.

Tomorrow: More to it than meets the eye.
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More to It Than Meets the Eye
If you’re a careful cardplayer, you take nothing

for granted. For example, take this case where South
is in four hearts and West leads the K-A-6 of dia-
monds. East ruffs the third diamond and returns a
club to dummy’s queen.

Superficially, there seems to be nothing to the rest
of the play. Declarer draws trumps and sooner or
later takes a spade finesse. Surprisingly, the queen
loses to East’s king, and South goes down one.

Bad luck, you could say, but the fact is that de-
clarer had a sure thing and failed to cash in on it.
Granted that West was much more likely to have the
king of spades for his spade overcall than East, South
should not have relied solely on that probability.

After winning the club at trick four, declarer
should cash the A-K of trumps and A-K of clubs,
discarding two spades from dummy. He then runs
all his remaining trumps, producing this position as
the last trump is led:
North    [S]  A Q   [D]  9   — West  [S] J 10 [D]  J
East      [S]  K  [C]  10 9 —    South    [S]  6 3 [H]  8

At this point, South knows that West’s last three
cards consist of the jack of diamonds and two spades,
which might or might not include the king. When
the heart eight is led, West is forced to discard a
spade, whereupon South discards dummy’s nine of
diamonds.

When South next leads the spade three and West
produces the jack, it becomes folly to attempt a fi-
nesse, because West’s last card is known to be the
jack of diamonds. Declarer therefore goes up with
the ace, catches East’s king and so makes the con-
tract.


